—REXEHZHE

TO54E20-1_(EAXEZEBRREWER) B5TR

[+hk_2020/01/171

B

]

R

fE1E s

13

BEEES
a5 I B2 AT
Q10

5x103xt=4x10"®x1.62x10""°
>t~ 128.2

5x103xt=4x10®x1.602x 1071
>t~ 128.2

BEEE S
a5 I R AT
Q13

Ne=n, XN, Xn, =0.9x0.9x0.9=0.729
= (0.732

Ne=n; XN, Xn,; =09x0.9x0.9=0.729
= (.73

ELagitiad
1R R AT
Q15

W =P - t=3000x1x30=90kW/hr =90x2 =180 J©

W =P - t=3000x1x30 =90kW/hr=90x2 = 180 7T

ELagitisd
1R R AT
Q16

W=Pt=100x20=2 (kW/hr)

W=Pt=100x20=2000 (W/hr) =2 (kW/hr)

14

~RE®
B EA)
e

24

BRES
R R AT
Q1

1

1
Ry =py = 1002 - Ry = pﬁ= 12.50

[ f
Ry =pr=100Q " Ry = pﬁ = 12.50

BRES
R R AT
Q7

Ploss = I’R = I°x5 = 5W

Ploss = I’R = 12x5 = 5W

BRI
i R R AT
Q11

52 % 20 X 50 X 60 X 0.24 = 3600 x 1 x (T — 20)
= T=30

52 %20 X 5% 60 % 0.24 = 3600 x 1 x (T — 20)
= T=30

BB HE
18 R AR AT
Q12

F1H




—REXEHZHE

BB

10 a_°+20ﬁ”2 : ! 0.0077 10 “_°+20 : 0.0077
BOREEAT | 15 T L= U == >0y =—7==0.
25 2 121 5 o 130 12 aio+ 50 130
Q17
BEEE 20—4 20—4
= = R = —2kQ = = R =—=2kQ
*ﬁ;ﬁu ﬁ@*ﬁ 2k + 6k 2 Zk + 6k 2
Q6
41
Ep O gk 4 4 4
BREH |y _ 1o« =4V Vy = 12X —— =4V
el EhE RS
014 5V,-V,=8—-4=4B SV, -V, =8—4=4V
EEER _ 20 | B 20 ki
¥ B ARAR V=0 s 20 Y Vim0 e o5 r20- Y
Q24
B i 40 R 40
BEEE R . VRz = 40 X 2 _ VR2 40 % 2 —
4 | @ Ri+R, 6 Ri+R, 6
Q27
EgEs | ab R B 8] 2 2 B a~ b W EAE A TR
SR | Vp=V,=60V S Vp=V,=60V
Q30
45618 @B LEHXABIRAD)RE - @B LA RIRAQ)RE :
ny E
48 i 24—V, Va+12 V, 24 —Va _Vat+12 Yy
* 6 2 3 6 2 3
45 Bl @) EEBBERLHAA LTS : @) EBMBERLAA LTS :
ny E
49 i Vg Vg+6 12—V Vs Vg +6_12-Vy
* 3 2 6 3 2 6
. \ 4 Oa
Va
6Q2 3Q - Oa
. 5A A 6Q 30
#lmE T_UV T+6V . " )
56 i ‘ . ob T_12V —|7+6V
L3
. W VaA—12 V,+6 .
AL . S+ 45 =0 ob
. Vi—12 V,+6
RERBBEE ¢ 2 - A3 +5
s5—FT | BHESHER HHESWER
61 ES RIS WA FRIEE W ER
V=i

F2H




—REXEHZHE

E,  E, E, E,  E E,  E, Es E,,  Ey
v RR,TR,TR, TR, v RTRTRTR TR
ab = 1 1 1 1 ab =™ 1 11 1
RRGITR TR T Ry RIGTR TR T Ry
— e
65 - [Aft NEk N NEk N
=k Ex X G 5 Ex X G
_k2=:1Rk_kz=:1k K _kz=:1Rk_kz=:1k K
- N 1 - N ~ N 1 - N
== G = G
k§1 Rg k§1 3 k§1 Ry k§1 K
Ei B B By 4B E L B E By E
o R, "R, "R, "R, R, R, "R, "R, "R, Ry
PV =T 7 1 1 1 Voo =T 1 1 1 1
TR TR TRy IR TR TRy
V _ 11+12+I3++IN V _ 11+IZ+I3++IN
ab — ab —
1 1 1 1 1 1 1 1 1 1
=tgtp ottt o e totogto toto
s R, 'R, "R, 'R, R, R, "R, "R, "R; Ry
_ Il+12+13+.”+IN L Il+12+l3+"'+IN
_G1+G2+G3+"'+GN _G1+G2+G3+"'+GN
OAAZBFIERE : O AZBERE .
66 24 36 0 20 24 36 0 20
v, 6 123t 7T v._6 1 377
=TT T 1T =TT T
6 12 3 4 6 12 3 4
GiplmE | 4+3+0-5 4+3+40-5
EB'@”“*E — :24(V) — — 4(V)
- 24+1+4+3 24+14+4+3
ﬁﬂﬁ 12 12
(2)5EHE a~ b il  BRAZRHWPEEKX Vi | Q7% a- b BRAZHEPEAEEK Vi :
24 36 20 24 36 20
. Tt 4+3-5 N ! ?+ﬁ—7_4+3—5_4 v
MU T T 24143 (V) L I - E (V)
6 12 ' 4 12 6 12 ' 4 12
sy | BEAMERAIE FEFERAT S
WA | V-16 V—-24 V-6 V-16 V—-12 V-6
2 + 3 + 2 0=V 3V 2 + 3 + 2 0=V 3V
Q4
73
BEEE 1 1 1 1 1 1 1 1
e —SOOK ﬁ—}_ﬁ—l—R:)R 800Q 05K ﬁ—i—ﬁ—'—RﬁR 800Q
K Rl R AT
Q9
o N e ELE BRA M AN RLE B A
BEEE S
| v Vo L,V
74 ta R B AT L+=+2ij+4=>i, == TIBV=12V 11+§_211+4 .
2 6 v - OV =12(V)
Q19 ilzg

FIH




—REXEHZHE

_-;-El_uu\ - L 18
BRE | R =610+ G2 =2 Ren = 614+ (12) == (©
1R R AT
Q20
gt 12 12
HERE Rry = 6114 == =150 Rey = 611 2 == =150
1ORI R AT
Q21
snuy | UAEHREER H20BAMNS  BEELARE | KABHEERE  H 208HEMNS - BEERAR
Wy | WERE - MERERERRNED - HERE - WIUREEERFEWE S
Q22
B (3)1uF ZFEE = Q, = 100x1=100uC (3)1uF FTEE = = 100x1 = 100uC
II‘/E’
81 i 2uF ZTEEE Q; =100x2 =200uC 2uF FTEEE =100%2 = 200uC
g 6uF 7TEEE Q,=50%6 =300uC 6uF 7TEEE =50x6 =300uC
s@hlme | KEEFIDERINER - SKEEFIEFEINE -
85 B
E£=E4)
BB S5 A ~ 3x10 A 3x10x 1074
C=¢-=885x10"12 x ——— = 26.6PF C=e-=885x10"2x—«————
89 /»A/ Jﬁq:*ﬁ d d 01 X 10_2
Q8 = 26.6PF
EEELR ; 10 b c 10 -
woamy | 5 ’
Q19
90
BEEE |W=QVxV=V=1V W=QxV=V=1V
1R R AT
Q24
N,V A 100 240 N, Vg r 100 240
N, V, 10 V, N, V, 10 V,
EEESE
. ~V, =24V .V, =24V
105 | MRIEEMT
N, i, 100 240 N, i, 100 0.1
Q7 INTLTT0 N, N, b 10§
iy =0.01A iy =0.01A
BEEE 1 1 1
E‘?ﬂiﬁ W= EL1L22 — ML, 1, = 325 — 255 = 70] W= ELllf + ELzlg — ML,
106 | TERIERAT
=325 —255=70
Q13 ]

FA4H




—REXEHZHE

FEEE | 16 5002 16 /500\°
SRR +=-p =D =250 —=(%) =p=250
R ARAT 4 D
Q14
= L 82 N B ztE L 82 N Rz tE
% 8| A 10 10072 10 10042
AR | 10 1000\ g —=(—) =N =50
2.5 2.5 N
Q17
gGlmz | (DT=RC=50x10x10"°=27% (1)T=RC=50x10x1076 =5 x 10~ *
110
BRAT
123 | #£8= © A
—t l $3 POV —— l $:30
- I = 10mH - L = 10mH
=B 5+6x3 5+6x%3
RS | =46 g = 25— = 46A
126 | 1&RIERAT
Q11
S5 mE 1y . . | s 1y . . 1 s
(3)V(m) = 100sin (360 X 60° %X FO-F 30 ) (3)‘/(?0) = 100 sin (360 X 60 X m‘f‘ 30 )
— R
D=2 6otz T=i= = _sohz nT=i=lm
131 . ()—ﬁ— yA o —?—%/ ()_E_ Z Sh _F_%/
RS
R 3 ( ! )—100 i (360°><50>< 1 30°> 3 ( ! )—100 i (360°><50>< ! 60°>
— (3)v({5g) = 100sin 150 (3)v({5g) = 100sin 150
= 100sin(120°) = 50V3V = 100 sin(60°) = 50v/3V
1 1
Tr i +
p 50§ Va
145 | #@Bl— |V ’9 150 j200 ) =
j6Q§VI_

F5H




—REXEHZHE

v~
)

L &8

r I
* R
&5 (51— v @ R L +
g — \ - @
| - 3.
&5 — B R - y R .
(4) PF = cosB = Z= cos60° = 0.866 (4) PF = cosB = 7= cos30° = 0.866
FRAT
__ |11 1 1 1 R-X, 1 1 1 1 1 R+jX,
| —_ = —_——]— = — _— = —_—m—— ] — = — — =
149 | BIH_1T Z R ‘X, R * Xy~ R+jX, Z R JX. R * X, R-jX_
1Q 1Q
@ 'A% @ 'A%
50 T 5Q T
HHIRE . "
(4 isQ &l _, . e isQ &l _, .
=g 5-i5& D . 7Z.=4-j8Q .5-J5A<D . Z.=4-j8Q
vO( 3@ vO( 3
* T * T
1Q 1Q
° ANA oa * A\~ Oa
HHIRE Q Q
7 i5Q i5Q
B(DE | s js2 D 35 5-j5A D is
+ +
t t
158 vOQ 3Q Y 3Q
* 000 Oob ® SO00 ob
gimmE | 3)Vrn = Vap = (5 —j5)(5 +j5) + 50°20 (3)Vry = Vo = (5 —j5)(5 +j5) + 5020°
@) |- 1002£0°V =1002£0°V
£3
EEEE | - —j6 R -j6
160 RhlRE Iy = 1020° X — 2 = ~30,0° = 1020V Iy = 1020° X — 1 = —30,0° = 302180°A
B (2) 18 -6 8 -6
V =100z —10°V g 100 o
. =—2-10°
EEﬁTE%}% T_ v B 1002 — 10° 10 T \/i
168 | WE@N | TR 10 ' Sorq
IV v 10 )
Q18 ‘. i =10sin(377t—10°) I=x b Lo Apf oA

. i=10sin(377t—10°)

FH6H




—REXEHZHE

BB

Ve = 5£0° X 254 —90° = 1252 — 90°

_ 5 125 .
VCZELO X 2524 —90 =ﬁ4—90

169 W | - Ve = 125sin(377t—90°)
020 . V(t) = 125sin(377t—90°)
(O | (XeXe (D)X<Xc
171
B—17
> i
+ + >
1gg | BT @ v, |:z] v A
Syl | - = @
s | — P 600 " P 750 "
197 whl— (4)PF=—-=————— =06 K% (H)PF=—=—— =06 &%
24 4) S /750 + 10002 S /7507 + 10002
i
=up 1 1 1 1
SRR P = EVICOSG = > X 50 X 16 X cos30° P= EVICOSG = > X 50 X 16 X cos30°
1R B2 AT
016 = 346.3W = 346.4W
203
s | 8 oo —_ 8% _os
B ARAT V8? +62 V82 + 62
Q19
g g1 200 1
207 L) b= ax100 w b= 2ux100 w"
i
5 Fin 0.8 % 0.75 = 0.6 = 220
= = = =0.8x%x0.75=0.6 =
L05. N=08x075=06=_7 n -
7 &
7
= P, = 1000(W) - t4#(D) - = P, = 1000(W) - ##(D) °
10Q 10Q
105- VWV Wy
27 %8
27 = 5040°V$ 100 5040°V€% D 100
R R R2 R R R2
L06 WA A WA A
3_ 13 & I %411 %ZR %R 1 %41{ %m %R
A AN A AN
R R R/2 R R R2

BTH




—REXEHZHE

—> — — —
3 3Q 15Q @ I g 15Q ! 3Q 15Q |:| I 39 15Q
106— 10 LE 12v 12V 12v 12V
30 ARAT T 90 T T 90 T
15Q 30 15Q 3Q 15Q
107-
1&#
1
2 :  3H
3.6H L 3.6H L
107-
22 % 4H 4H
6H
L R=3Q I R0
107- 36 + Zr
= o Zr I . v Z0° _ ==
29 VZ0 ) Xo=6Q T [ Xem60 - =60 Xe=6Q
R=3Q] —
[+
V
+ d ©
107- 12V O 6V i
21 _
45 12V O 6V
a 6V b -
a 6V b
4A W, 4A W,
—> [ —> [
o o
+ 25V — | — 20V + + 25V — | — 20V +
071 e N N
46 = <i> w0V % QW 6AT <i> w0V % QW 6AT
IZVSRE lix 1N lix
2H 3H 3H 2H 3H 3H
107- o
49 44 7 6H 6H 6H 3H 6H 6H 3H

Ly

Ly

FH8H




—REXEHZHE

108-
20 =&
4
108- /I /I
23 & L L
5 1 4
d | €1 € d | & | &
Tk w, 2w, T w, 2w,
_ + =
L . " —— VWV
© R 10Q i(t) R
108- 7 % | + t_ Az
30 ay 3 L gV vV T L g_
Zs3+j4 Q Z=3+j40
AN o0 AfA B0
5 em \J
38 = | B0 200V ,91 W J; Ry Es=60£0"V @t I Ry
108- |7
658 R 6Q 3Q 20 Ry 6Q 3Q 20
46 \y
1A M=2H 2A 1A M=2H 2A
> < > <
3 E 3 E
]_5 % 4H 3H
72
Ni N2 Nu N2

(EFrHH . 2020-05-13)

FHIH




—REXEHZHE

BRTACER

2020/03/03 Hrigss 74 BIEE] -

2020/04/22 #1855 13-24-25-41-56-61-74-123+145-146~158~171-178 - 105-7 - 105-27 ~ 106-3 -
106-30 - 107-1 - 107-4 ~ 107-29 -~ 107-45 ~ 107-46 - 107-49 -~ 108-4 -~ 108-5 - 108-30 ~ 108-38 -
108-46 ~ 108-72 BIEZ] -

2020/05/08 HriEss41-42-48-49-65-66-73-74-81-85-89-90~ 105106 110-123-126~131"
149 -~ 158 ~ 160 ~ 168 ~ 169 ~ 197 ~ 203 ~ 207

FHI10H




